5ol 30em?! 9= 189 &9 99 =& Ao HY 942
Gadch [ b ggre 22 At 240,

*--94 9cm-

HE D 30

>
>
>
> ®E D 942
>
>

loll gt Y==2] Hl-&)
£)=942+30=3.14




Axge A2 B 9ol vedUth
Aoz eid (95-8)=(95)+(A8) &




3. the 2 BAY A AelugkEY 4emol T, HAY EeY
Zo1g AHY oF 12,56 m P T AFES T4 L.

"-12.56cm-""

>
> =g 3.14




4. QoI FE A o LAY

> = il

> Jel 348




@ HA|Fo et 252 H] @) A5l et A2 vl
@ WSOl Hiet g2 H] @ 5o tiet 2152 Hl
© AFoll et JEA]F2] v




0]
gyt

&

-

e

ul
RO

gel ol

=]
=

‘%ﬂ
o
H

ey




)+ 314} +2

{(




AF7} 5024cm) Wol &k o] 9] 5] PolS T5hAL.

> E cm
[> HEFD 16cm
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20. o5 #HA O, O= A HE FoHA L.

AT A&o4ol
32.97cm @)
© 18 cm

>
>
> HgH: 105cm
>

HE D 56.52cm

@ = 32.97 + 3.14 = 10.5( cm)
© =18 x 3.14 = 56.52( cm)
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